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Input-Output Matrix

A healthy economy produces commodities. 

In order to produce a particular commodity, one or more of the other commodities are used.

An input-output matrix (designated A) shows how much of each of the other commodities are needed to produce one unit of a particular commodity. See Example 1 on page 111.

The matrix has a row and a column for each commodity.

Production Matrix

The production matrix (designated X) shows the units produced for each commodity.

The matrix has a row for each commodity, and only one column.

Multiplying the input-output matrix by the production matrix gives us the amount of each commodity used in the production process – inside the system.

Subtracting the amount used from the amount produced gives us the surplus:

S=X-AX

Demand Matrix

The demand matrix (designated D) shows the units needed outside the production system – generally for sale or storage.

The matrix has a row for each commodity, and only one column.

Ideally, the amount demand should be equal to the surplus.

Relating Input-Output, Production, and Demand

The three matrices are related by: D=(I-A)X (see page 113 for derivation).

Open vs. Closed Model

A model that allows for surplus to be used outside of the production system is called an open model system.

Another model is one in which all commodities are used only for production. This is called a closed model system. The relational equation above simplifies to X=AX.

